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QUESTION 1

Which statement about a differential backup is correct? 

A. The use of differential backups is limited to backups on tape roboters. 

B. To restore a differential backup, you need the last differential backup only. 

C. To restore a differential backup, you need the last full backup and the last differential backup that was made since
the last full backup. 

D. The amount of data that needs to be backed up with each differential backup depends only on the amount of data
changed since the last differential backup. 

Correct Answer: C 

 

QUESTION 2

You want to boot your system to runlevel 3. Which option do you have to enter at the GRUB boot manager dialog? 

A. 3 

B. init=3 

C. boot=3 

D. runlevel=3 

Correct Answer: A 

 

QUESTION 3

What is the difference between the /dev/st0 and /dev/nst0 devices? 

A. /dev/st0 is the first SCSI CD burner; /dev/nst0 refers to the CDROM drive. 

B. /dev/st0 is the first tape drive; /dev/nst0 refers to the same tape drive in non-rewinding mode. 

C. /dev/st0 is the first serial console; /dev/nst0 refers to the same serial console as a block device. 

D. /dev/st0 is the first SCSI hard drive; /dev/nst0 refers to the same SCSI hard drive in read-only mode. 

Correct Answer: B 

 

QUESTION 4

What is the correct syntax for mounting the second partition of the first SCSI hard disk? 

A. mount /mnt /dev/hda2 
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B. mount /dev/hda2 /mnt 

C. mount /dev/sdb1 /mnt 

D. mount /mnt /dev/sdb1 

E. mount /dev/sda2 /mnt 

F. mount /mnt /dev/sda2 

Correct Answer: E 

 

QUESTION 5

Which statements about the Linux boot process are correct? (Choose 3.) 

A. The BIOS starts the kernel. 

B. The initrd decompresses itself. 

C. The kernel looks for and mounts the initrd. 

D. The boot manager starts the init process. 

E. linuxrc loads the modules to mount the root file system. 

F. The boot manager loads the kernel and initrd into the memory. 

Correct Answer: CEF 
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